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Result clauses: so, such, too, enough
1  Choose the correct word or phrase.

1 I got hot during the race because I had put on too 
many / much clothes.

2 Sally lengthened her skirt because it was 
too short / short enough.

3 I’m not fi t enough / too fi t to run a half 
marathon.

4 Paul had never run such / so fast before. 

5 The fun run was cancelled because there weren’t 
such / enough participants.

2  Find and underline the mistakes in the 
following sentences, then correct them. 
There may be more than one correct 
answer.

1 The runner needed medical attention because he 
hadn’t drunk too much water during the race. 
        

2 Robin has got too many running shoes that he 
hasn’t got enough space for them.         

3 I had such good time at the party after the race! 
        

4 Rob was so fast runner that he was always the 
winner.         

5 Are you so tired to fi nish the race? 
        

Conditionals (2): third conditional
3  Complete the sentences using the correct 

form of the verbs in brackets.

1 If the referee had warmed up before the match, 
she              injured. (got)

2 Carol wouldn’t have fi nished the marathon if she 
             so hard. (train)

3 If I hadn’t been run off my feet making food, 
I              you with the party 
decorations. (help)

4 Pete              to bed early if he 
hadn’t so been tired. (gone)

5 If Jenny              so much 
exercise, she wouldn’t have lost so much 
weight. (do)

4  Complete the second sentence so it has a 
similar meaning to the fi rst using the third 
conditional. Sometimes there is more than 
one answer.

1 I touched the fi re. I burnt my fi nger.

If I hadn’t touched the fi re, 
I  

2 I entered the competition. I won it.

I wouldn’t have won the competition if 
I  

3 Paul started his own company. He earned a lot of 
money.

Paul wouldn’t have earned a lot of money if 
he  

4 Jane wasn’t the captain because she was always 
late.

If Jane hadn’t always been late 
she  

5 I didn’t train a lot. I couldn’t run a full marathon.

If I had trained more 
I  

Unit round-up
5  Choose the correct word or phrase to 

complete the dialogue.

Max: What’s the matter, Abby?

Abby: I’m (1) too / so tired to go on. I need to 
rest.

Gen: If we stop climbing now, we won’t have 
(2) enough time / time enough to 
reach the top.

Diana: I think it’s (3) too / so far to reach the 
top and get back before it gets dark.

Max: Sorry, if I’d known the height of the 
mountain, I would (4) allow / 
have allowed more time.

Gen: Maybe, but if we (5) would have / had 
left earlier, we would have had plenty 
of time.

Abby: We would have left on time if you 
(6) hadn’t / had taken so long in the 
shower.

Max: OK. Don’t argue! I think we should 
go back. We’re not moving 
(7) fast enough / too fast to reach the 
top.

Gen: OK. But let’s take some photos before 
we go. This is (8) such a / such 
spectacular view.


